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DD-978

Bachelor of Business Administration
(Second Semester) EXAMINATION,
May/June, 2020
BUSINESS STATISTICS

: (108).-
Time : Three Hours
Maximum Marks : 90
Minimum Pass Marks : 32
el g gl $ TR AR | IRE 3o W U@ wE
ST AFEd & | W Ul & e /I B |

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.

L

(UNET—1)

1. wiReret @ oRurer Sfy qer SuS &5 vd el @
e @fru |

Define Statistics and discuss their scope and limitations.
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[2] DD-978

IRIAT

(Or)
fediae wHe @1 oRf gagy fgdm @l B o
FTEIE A YO SRA WM @ ErEendr o o
ElE
State the meaning of secondary data. What precautions

should be taken before using secondary data for farther
investigation ?

TIR—2
(UNIT—2) ‘
2. TrfaRen smgfy faaver &1 qRSs. sid S -
it ~ o
14—15 6
16—17 14
18—20 15
21—24 11
25—29 11
30—34 10
35—39 9
Find mode of the following frequency distribution :
Class Frequency
14—15 6
16—17 14
18—20 _ 15
21—24 11
25—29 11
30—34 ) 10
35—39 Vo9

{~-68)
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[31] DD-978
Sqar
(Or)
freferRaa angfy frewer @ wifegeT e BIRG
AT (W AfrD) fdqal @1 G
20 80
30 74
40 64
50 48
60 30
70 18
80 8.
Calculate median of the following frequency distribution :
Marks (More than) No. of Persons
20 80
30 74
40 64
50 48
60 © 30
70 i8
30 8
T3
(UNIT—3)
3, Frffya ARy Raver &1 A fEe o St
aar (femm. ) Rl B de
0—10 6
10—20 10
20—30 20
30—40 9
40—50 5
(A-68) P. T. O.
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[4] DD-978

L]
Calculate standard deviation for the following frequency
distribution :

Weight (in kg) No. of Bags
0—10 6
10—20 10
20—30 20
30—40 ) 9
40—50 5

IR
(Or)

frfeRag ofes & @d T &1 Rywar e 99
BIFT

AT (| T¥) i
20 3
30 | ‘o
40 30
50 60
60 75
70 85
80 92
90 97
100 100

(A-68)
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From the data given below,
coefticient of skewness :

DD-978

find Karl Pearson’s

Marks (Less than) Frequency
20 3 o
30 14
40 30
50 60
60 75
70 85
80 92
90 97
100 100

FIE—4
(UNIT—4)

Fet T & HeaRry

TOi6 | AT @ e & ?

@ O R Wi @t e i
What do you understand by Karl Pearson’s correlation
coefficient ? Discuss briefly its merits and limitations.

P

' (On)
ferferiad THal | g T WERAT B WEF Bl (U
BT FEHT S ST DIfoTY -

T ST fRrfere Srreen
e (et %) (e %)

10—20 120 100

20—30 100 75

30—40 80 60

40—50 60 40

50—60 40 25

60—70 15 10

70—80 8 4

(A-68) P. T. 0.
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[6]

4

DD-978

Calculate Karl Pearson’s correlation coefficient between
Age and literacy from the data given below :

Age Total Population | Literate Population
in lakhs ("000) in lakhs (*000)

10—20 120 - 100
20—30 100 75
30—40 80 60
40—50 60 * 40
50—60 40 25
60—70 15 10
70—80 8 4

. THE—5

(UNIT—S5)

5. fy=foRan affesl @ frer @ enedl §3 gR™1 2010 &
HER TR 2017 BT P S M s DAY -

2010 2017
™ EaUG| A=A GG HP=T
A 12 100 20 . 120
B 4 200 4 240
C 8 120 12 150
D 20 60 24 50

From the following data find out Price Index Number by

Fisher’s Ideal formula for 2017 based on 2010 :

2010 2017
Commodity
Price Quantity | Price Quantity
A 12 100 20 120
B 4 200 4 240
C 8 120 12 150
D 20 60 24 50
(A-68)
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SRIAT
(Or)

DD-978

frafafea @e oot & fog dodly =@ "eg @@

BINY

Calculate the five yearly moving average for the

following time series :

ay (Year) o4 (Price)
1 55
2 52
3 49
4 53
, 5 54
6 60
7 57
8 55
9 57
10 61
11 65
12 64
13 61
14 59
15 65
DD-978 440
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